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Recruitment of Non-Executives (ITI Holders) in RFCL (Advertisement No. Rectt/01/2024 )
Question Paper Cum Answer Key for Written Test held on 7t April 2024
for the post of Attendant Gr. | (Mechanical) (W-2) (Fitter (51))

Q.1. What is the name of tool given in the below image?

T & % BfY # Ry 7Y ¢ &1 AW F4T B?

A). |Allen key
NGRS
B). | Torque wrench
<o R=
Q). Pipe wrench [Correct Answer]
sy R4
D). | Adjustable spanner
TR 3SR

Q.2. Which is the most common type of joint in pipe fitting to link two pipes
at a right angle?

52 3 B S At e

A). Tee joint [Correct Answer]
& Sirs

B). Socket weld joint
NIESIEESESIS

C). |Union joint

REREESIS
D). |None of these
ST W PIg &

Q.3. What is a gasket used for in pipe joints?

U1y SISl # INDe BT SUANT fhd forg fhar <mar 27

A). |To reduce friction

Y] BT HH B B 10
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B). |Toincrease pressure

%91 98 @ forg

C)- ' To enhance flexibility
AAATIT IS B ffg

D). To prevent leakage  [Correct Answer]
R T b & oy

Q.4. What is the name of the machining process where a rotating multi-point
cutting tool is used to remove material?

T T T B e

A). | Drilling
fgfofT
B). Milling [Correct Answer]
forars
C). | Grinding
BIRSkill
D). |Sawing
Eashll

Q.5. Which type of file is used for finishing flat surfaces?

%aﬁm?a%ﬁ?ﬁﬁmzkmﬁmwaﬁmww

A). Round file
e BIgel
B). |Half-round file
Ml BIge
C). |Triangle file
st drget
D). |Flat file [Correct Answer]
RIC BI3d

Q.6. When welding non-ferrous metals such as copper and aluminium, which
type of welding is usually applied?

aaﬁ?ﬁﬁ'\f_\rw Wﬁ%g%gﬂqw@%mﬁ ?

A). TIG welding [Correct Answer]
TIG dfesT
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B). |Spot welding
wic dfesT
C). | Arc welding
3 dfesT
D). |Plasma welding
ATSHT dfeeTT
Q.7. Which tool is commonly used for marking precise measurements on metal
sheets?
a@aﬁﬁﬁﬁwmwd@mﬁa}mmwm
SUGRYT BT SYANT fHAT ST 272
A). |Screwdriver
CEER
B). |Divider [Correct Answer]
RSB
C)- |Pliers
e
D). \Wrench
=
Q.8. What is the primary use of the shown tool in the workshop?
BRI ¥ ST Y SYDHRYT BT UrRIAS SYANT T 87
A). |Holding workpieces securely [Correct Answer]
JHURT Bl GRIET ®U I gdhs
B). |Cutting metal
gTd hrIeT
C)- |Measuring angles
DIV AT
D). |Marking metal surfaces
gTq B a8l @ fafed we

Q.9. What is the function of the given tool in metal working?

fAQ T SUHRTT FT GIgHH A R B &7
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A). |Cutting metal sheets
T Pl =&Y BIeA
B). |Holding small components
BIC TChl Pl qhsl
C). |Measuring linear dimensions
R AT ATIAT
D). Shaping and forming metal [Correct Answer]

gTg Pl ATHR <A1 AR AT

Q.10. What is the name of the tool that can be used for precise tightening of
screws according to specified torque values"

SUST fafde <o wF] @
%szﬁaﬂﬂmw%; a‘? wthrnﬁ%?

A). | Screwdriver
BEER
B). |Hammer
BRI
C). Torque wrench [Correct Answer]
CERLE]
D). |Pliers
forer

Q.11. Which component of a valve is responsible for regulating flow?

g@ﬁﬁﬁwwmﬁﬁﬁﬂﬁamﬁiﬁmw

A). | Bonnet
CIE
B). |Disk [Correct Answer]
5552
C). |[Stem
©q
D). |Body
CIE]]

Q.12. What is the name of the tool that is commonly used to measure the
depth of a drilled hole?

R ET T BT e

A). |Depth gauge [Correct Answer]
RIS
B). |Micrometer
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ATgh I

C). |Vernier caliper

IR bR

D). |Feeler gauge
BIeR TS

Q.13. Which tool is used to create internal threads in a hole?

B | FiaRe I M & fov 59 SumRor &1 SUART fHar
ST 87

A). |Reamer

IR

B). 'Hammer

geileT

C). [File
BIedl

D). [Tap [Correct Answer]
=)

Q.14. Which material is commonly used for making gaskets in fitting
applications?

T [ H NP M B IR R P9 arEh
mﬂ%%? fere - i

A). |Aluminum
STegHIT=TH

B). |Copper
SIE

C). |Rubber [Correct Answer]
LES

D). |Stainless Steel
T e

Q.15. Which tool is commonly used for marking measurements accurately in
fitting?

BT # A9 & ¥® w9 9 g v b oY AR W)

P9 SUBRIT BT SYANT THAT S 572

A). |Protractor

Yo dex

B). |Trysquare [Correct Answer]
STy TR

C). |Micrometer

HATghIHICx
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D). |Vernier caliper

IR BfoTR

Q.16. Name the tool that is used to measure the straightness of a surface or
shaft.

A). | Straight Edge [Correct Answer]

e T

B). |Spirit Level
Rye e

C).  |Feeler Gauge
HIeR ISl

D). |Dial Test Indicator
S ¥ HAhdd

Q.17. Which process involves joining metal pieces by melting them together?

g;\qmﬁa@$§wzﬁrﬁwwwvﬂwma

A). Welding [Correct Answer]
afesT
B). |Riveting
Rafer
C).  |Soldering
EERICIRERI
D). Brazing
Gl

Q.18. In an engineering drawing, what does the symbol "@" represent?

TP SO SIET H, Uil "@" T ST &7

A). | Surface finish requirement
adel (e &1 raegehdr

B). |Diameter dimension [Correct Answer]

RINESIRIEN

C). | Angle dimension
DI ATAH

D). |Tolerance specification
FeTeiierdn fafdredn
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Q.19. Which type of power tool is commonly used for drilling precise holes in

A).

B).

Q).

D).

metal workpieces"
%R Srmen
SUDHR] aﬂ Btm‘m

Bench grinder

EEREIESN

Angle grinder

QT ISR

Circular saw

AR Al

Drill press [Correct Answer]

ST U

W%WWW%W%

Q.20. What is the name of the tool that is commonly used to shape metal or

A).

B).

Q).

D).

Q.21.

A).

B).

Q).

D).

wood by rotating it against a fixed cutting tool?

Wg%ﬂm%ﬁﬁm ﬁrﬁaﬁglg-‘rm
SYART fHar Sirar 27 ! 9

Lathe [Correct Answer]
EENE

Grinding

forems

Drill

Bq PRI

Bench drilling

9 fgferT

Which instrument is commonly used to verify the alignment of machine
tool components during inspection?

o eror & T SUDRUT TTH! P GG Bl AT PIA
P forg R {59 SUPY BT SYART fhar Siar 27

Tachometer

SCAICA

Spirit Level [Correct Answer]
e e

Thickness Gauge

HIeTg A9 BT IH

Multimeter

HoT ey

Q.22. What is the most suitable method for joining two thin metal sheets

together?
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A).

B).

Q).

D).

Q.23.

A).

B).

Q).

D).

Q.24.

A).

B).

Q).

D).

Q.25.

ﬁ@waﬁsﬂﬁaﬁww@aﬁaﬁﬁwﬁ%
T 87

Riveting [Correct Answer]
RafeT

Soldering

EERICIRERIl

Welding

afesT

Bolting

qifeeT

Which gas is commonly used in brazing operations to create a controlled
atmosphere?

mwﬁ%@WWﬁmwm

Oxygen
SIESISE]
Nitrogen
ISR

Acetylene

I CERIE]

Argon [Correct Answer]

SIE]

Why is it important to lubricate moving parts of machinery regularly?

mﬂﬁa%?mﬁ%ﬁﬁﬁuﬁﬁmﬁﬁﬁﬁﬁﬂ

To increase friction

g1 ggM & fory

To make components brittle

HChi B R B folg

To reduce wear and tear  [Correct Answer]
TS Pl HH XA b fory

To decrease operational efficiency

gRATeT geTdr § HH ofF & foruw

Which operation is commonly performed to modify the shape or size of
components in the fitter trade?

ﬁb?xfﬁ@fr mmmﬁmmﬁzﬁm
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A).

B).

Q).

D).

Q.26.

A).

B).

Q).

D).

Q.27.

A).

B).

Q).

D).

Q.28.

A).

B).

Brazing

SEll

Grinding [Correct Answer]
fores

Maintenance

NG

Polishing

YHDTAT

In the drilling technique, is commonly used for making holes in

metal with high accuracy.
fgfeiT ao-i® H, SUAN] AR
mﬁw?wa@ﬁ@—q’mﬁﬂmﬁquglm

Twist Drill [Correct Answer]
feave fya

Brad Point Drill

ds wrge fge

Masonry Drill

Tl g

None of these

TTH | PIS el

In metalworking operations, which material is often used as a lubricant?

%%Ta%zﬁmamrﬁ,ﬁmﬂmtﬁmwwﬁﬁmﬁwﬁ
ST 87

Talc

g

PVC

CIEIE]

Graphite [Correct Answer]
RalRsll

Silicone

Raferepr=

Which method is most frequently used in pipe fitting to connect two
pipes together without the need for welding'?

CIESRCARCIR AR ES G E Kl [ B T Ghe%ra‘?

Threaded connection [Correct Answer]
ST HIGR

Brazing
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E.Ei

C). |Soldering
CERCIRER)

D). |None of these
ST ¥ BIg T8

Q.29. Which tool is typically used in bench work to create threads on a
workpiece?

WW%@%%W%H%#WWWW

A). |Chisel
25l
B). Tap [Correct Answer]
ol
C). |Punch
BT
D). |[File
Prgel

Q.30. Which type of machine tool is most frequently used to turn or shape
cylindrical workpieces?

SAPR THU BT Jga AT JHR o7 B fou @

A). |Milling machine
fAfeT #efm

B). |Lathe [Correct Answer]
NI

C). | Drilling machine
EERIRE!

D). |Grinding machine
g @1 7

Q.31. For what purpose, is a micrometer used for in fitting operations?

fhfeT ®rat d Argpriier &1 SyART fHg forw fhar wiar 27

A). |Measuring angles precisely
DI BT FSIHAT | ATAAT

B). |Measuring surface roughness
T8 DI GRERTYA HTYAT

C). |Measuring lengths accurately [Correct Answer]
oS ASIhal W ATYA]

D). |Measuring temperatures
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Q.32.

A).

B).

Q).

D).

Q.33.

A).

B).

Q).

D).

Q.34.

A).

B).

Q).

D).

Q.35.

dTYHT HIYAT

Which operation involves creating threads on the interior surface of a
hole?

frd JTRTME & B P AdARP Fdg W s 9T AT 27

Drilling

fgferT

Reaming

T

Tapping [Correct Answer]
Gl

Knurling

RliAll

Which technique is used to clear the thread of the chuck during
mounting and dismounting in lathe operations?

s e - HEN 5 o o

Scraping

Raikil

Blowing [Correct Answer]
SIS

Brushing

SIRT dRAT

Tapping

Gl

What is the primary purpose of lapping in the context of fitter trade?

fhex g€ & HaW # AU &1 TrIfe Sevy w T 87

Tightening fasteners

BRTRI Bl BT

Measuring pipe joints

qrsy SirSl Bl AT

Cutting gauges

ST HreT

Smoothing surface [Correct Answer]
I8! DI AT Bl

What is the acceptable accuracy for fitting an angular mating surface?

I e dag & fibe o1 & folv Wi aiear wr 27
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A).

0.02 mm and 10 minutes [Correct Answer]

B).  |0.01 mm and 5 minutes
C)-  |0.05 mm and 15 minutes
D). |None of these
ST | BIS TR
Q.36. In which scenario, would you typically drill a blind hole?
3T AR W | uRgey § <Es BT HI?
A).  |When precise alignment is required
9 AEIH WGV Pl ALIHAT BT ©
B). |When the hole needs to be threaded
S1d 8] Bl ORI B 3Maeaahdl &
C)- | When the depth of the hole is restricted
S BT Pl Telg UERd 8l
D). |When a hole needs to pass entirely through the material [Correct Answer]
19 il B8 @ X TRE W Al | BI6R oAl USdl ©
Q.37. What precaution should be taken while drilling through materials with
varying thicknesses?
a1 Aiers_arell amiRl # i1 ova w9 T |
Al AMBY?
A).  |increase drilling speed
fefeim wfa e
B). |Secure the material properly [Correct Answer]
AN B ST | gRETT HRAT
C).  |Use a larger drill bit
UHh 93 fgol I &1 ST HRAT
D). |Apply excessive force
HAMID Tl T
Q.38. Which characteristic defines a dovetail joint?
B9 O fRIvar St s & IRINT axal 87
A). Interlocking angled surfaces [Correct Answer]
BV S DI STl DRl
B). |Rounded edges
RIERERIN
C).  |Straight cuts
Y Fe
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D). |Parallel edges
AR fFIR

Q.39. Which type of grinding wheel is most suitable for sharpening high-speed
steel tools?

—re, I B a9 B @ forg fe T

A). | Aluminum Oxide
TR 3iTTgS
B). |Silicon Carbide
Raferpa wraigs
C). |Cubic Boron Nitride (CBN)
R[4 IR LTSS (A7)
D). |Diamond [Correct Answer]
SIRLE

Q.40. When disassembling a machine, what should be done first to ensure
safety?

NI ik U A

A).  |Remove all electrical connections
1 fIegd Fiae ger o

B).  |Wear personal protective equipment [Correct Answer]
ARHITA GRET JYDRT Y&+

0).

N

Drain any fluids or oils
fopdl Y TRo1 ugrel A1 AT BT HbTer AT
D). None of these

T | Bl TE

Q.41. Which grinding operation is used to remove excess material and achieve
a smooth surface finish?

DI AR IifafRe |l &1 IR
w_\%gg%ﬂ Sty &I <l & 3R U@

A). |Cylindrical Grinding
TABR_ GIRIAT
B). |Centerless Grinding
DaeE YT
C)-  |Surface Grinding
g YT
D). |Creep Feed Grinding [Correct Answer]
AT BIe YIRAAT
Join Anil Sir ITI Telegram channel for latest Updates



Q.42.

A).

B).

Q).

D).

Q.43.

A).

B).

Q).

D).

Q.44.

A).

B).

Q).

D).

Q.45.

When assembling threaded components, which technique should be
used to ensure proper alignment?

JSE TTH! B VT B WWWW%
WWWWW%

Chamfering [Correct Answer]

BT
Tapping
Eik)
Reaming
AT
Facing

BRI

Which type of fastener is typically used to join two pieces of metal
permanently?

B B S S e e e
Bolts

e

Nuts

:\zws

o

Rivets [Correct Answer]

Raea

In welding, what is the function of a flux?

ARET H Folqd BT T BRI 272

To create a spark for ignition

goae & forg fRRTRY Uar R

To protect the weld pool from atmospheric contamination [Correct Answer]
I8 Jdl I IRIASHI UGNV § g9 & forg

To provide additional strength to the weld

oS Pl AR A TG HRA]

None of these

ERARUKIEIaE]

What distinguishes a pneumatic component from a hydraulic one?

TR Tch B BISSIHIP | HT AT HRal 87
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A).  |The type of fluid used for operation [Correct Answer]
IR & oIy ITART T A aTel TRl usref &1 ThR

B).  |The color of the component

g Bl X

C).  The weight of the component
gTH Pl qo

D). |None of these
$TH 3 BIg &

Q.46. What is a common issue that might arise in a power transmission system
due to lack of maintenance?

# o

A).  |Increased efficiency
1 S HIIET

B). |Reduced wear and tear
PH e

C).  |Belt slippage
JoT Reust

D). Decreased power Consumption [Correct Answer]
fISTell &1 gud & $H

Q.47. How do complex gauges differ from simple gauges in metalworking?

gIg®HH ¥ fed 9, FERYT 19 ¥ 59 yoR A= 31 87

A). |They are less accurate
J BH AP &
B). |They are cheaper to manufacture
ST AT FHRAT R B
C)-  |They are used for basic shaping operations
ST ITIRT JFAATE ATBR S & BT & oy HA1 S1am 2
D). They provide measurements for multiple dimensions [Correct Answer]

J b3 AT P T AT U B ©

Q.48. as one of the components of drill jigs, allows for easy adjustment
to accommodate different sizes of workpieces, enhancing versatility in
drilling tasks.

P T S
® JHUE Bl z-nm a% @l
Wajqﬁrém%, 1§={ an?ﬁ =

A). |Clamp
g
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B). |Base
Gkl
C). |Handle [Correct Answer]
S
D). |None of these
g X BIg e
Q.49. What is the purpose of constructing a circuit in a pneumatic system?
I yoTel § Afbe §9M BT Seeg R’ 'Y
A). |To generate heat for the system
Red @ fog T Soo=1 & @ forg
B). |To increase the weight of the components
Tch] Bl gold d¢l- & foIu
C)-  |To control the flow of air and pressure [Correct Answer]
g4l @ YdT8 IR Ta9 ®I T &% @ fow
D). |None of these
g X BIg e
Q.50. In gas welding, the flame is produced by mixing oxygen with which gas?
N dfeST ¥ fow A9 & A SifRioe AR <arer S~ o
S ©7
A). Propane
LIS
B). |Butane
Sl
C).  |Hydrogen
EIESISA]
D). |Acetylene [Correct Answer]
ISRk
Q.51. Name the type of hammer that is typically used for driving chisels and
punches.
SRl Ts'aﬁi_g PR Eﬁr ki TS SUIRT AR W B+
o ST 2 |
A). |Sledge hammer
wASl gelleT
B). Ball-peen hammer [Correct Answer]
EIGRIERDIS
C). |Claw hammer
NGRS
D). |Rubber mallet
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Q.52.

A).

B).

Q).

D).

Q.53.

A).

B).

Q).

D).

Q.54.

A).

B).

Q).

YIS Bl I1 BATS

What is the primary purpose of the given tool?

AT T T P UG SeeT @@ T 27

To store small tools conveniently

B ORI B YlausH® 1 ¥ FUfed B & g
To measure angles accurately

PV BT FeIhdl H AUH & foTy

To mark straight lines on metal surfaces

gTg Pl Adsl U= Wl @ 3ifhd Al

To hold cylindrical objects securely [Correct Answer]

JATR IEGRAT Bl GRIAT U ¥ Udhsl

Which material is commonly used for making tap wrenches?

2y R g9 & v R R g armft &1 Syt fhar
ST 287

Steel [Correct Answer]

SUTd
Aluminum
SIGIIRRE]
Copper
SIE]
Plastic

IRed

What could be a potential cause of drill troubles related to the length of
lips?

foreq Y <iaTE ¥ Hefta fgar wenfaal &1 G9Ifdd SR w8
Pl 87

Excessive coolant
S RIEEININEED
Uneven feed rate
SNRIGIRASIE
Unequal lip wear [Correct Answer]
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A oy fRR
D). |Insufficient speed
SRR

Q.55. What is meant by the "grade” of a grinding wheel?

TERT d @ U ¥ T a9y 87

A). |Diameter
g
B). |Hardness [Correct Answer]
HORAT
€). |Weight
CNEI
D). |Color
Rl

Q.56. Identify that part (x) of a bench grinder which is responsible for holding
the workpiece.

9 TR @ 99 TR (X) P UgaM BN Sl THUN BT Ghe
o forg =R 2 |

g—

A). | Tool rest [Correct Answer]
SEERUIRS

B). |Eye shield
RERSIENS!

C). |Spark deflector
ZRISEERED

D). | Grinding wheel guard
PIEISUICIERIRGED

Q.57. What is the name of the gauge that is used to measure the thickness of
gaps or the clearance between two parts?

S| RT9PT ST T 91 & 19 AcRIeT B
R R T R T3

A). |Screw gauge
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RIS

B). |Pitch gauge
o=
€). |Wire gauge
R TS
D). |Feeler gauge [Correct Answer]
BIeR TS
Q.58. In which scenario would you use a wire gauge?
g fore IR # aRR A9 BT STIRT HAI?
A). |To measure thread pitch
Js g &1 7o & fog
B). |To measure wire thickness [Correct Answer]
AR @I Alers 91 & fofg
C). |To check external dimensions
el JATAAI Bl S HA B oy
D). |To inspect internal dimensions
3R MMl &1 fFRIewT & @ forg
Q.59. What is the purpose of the zero line in limits and fits?
fafies &k fibe & I YT &1 Svw @ 77
A). It indicates the maximum allowable deviation
g Iffpdd Wier faad= & $fd &xar ©
B). It represents the midpoint between high and low limits
IE S R e At @ i weafdg & ufaf=Ra wxar @
C). It signifies perfect alignment between parts
JE 9NN @ d19 o vl & Udid &
D). |it marks the basic size of a part [Correct Answer]
IE fHdl 9T & Ho MHR Bl foafed wxar &
Q.60. What is the typical interval (in mm) between adjacent marks on the
Vernier scale of a Vernier height gauge?
IR SHa1E A9 & IR M R o= e @ 99 faftee
3feRTer (FRfT #) ar 87
A). 0.1 mm
B). 10.01 mm [Correct Answer]
0. 1mm
D). |10 mm
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Q.61. Which of the following is a property of cast iron?

fafalRad # & @19 wear @rer &1 Ior 872

A). |Low melting point [Correct Answer]
BH TTAIh
B). |High ductility
i EISIEE
C). | Excellent corrosion resistance
IPHE HTROT UfRTeT
D). |Lightweight
dTgcde
Q.62. Which type of cast iron is commonly used for engine blocks and
machinery bases?
frg UPR BT BT BT JMFAR W o1 il AR TR 39
@ forg SUERT fHar irar 87
A). | White cast iron
Aha Hedl dlal
B). |Malleable cast iron
TeIell edl dlgl
C). |Ductile cast iron
TAI el el
D). |Grey castiron [Correct Answer]
U Pl el
Q.63. What is the function of a faceplate on a lathe?
AT R BARIC BT T B 87
A). |To hold workpieces that are too large for a chuck [Correct Answer]
qH & oIy 980 s dHUNT Bl ThsT
B). |To hold cutting tools
B B UGV WG & forw
C). |To measure the diameter of workpieces
JHU & AN BT AIH B forg
D). |None of these
T4 U PIg e
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Q.64. Which type of screw thread is shown in the given image?

A).

B).

Q).

D).

Q.65.

A).

B).

Q).

D).

Q.66.

A).

B).

= & TE Bl ¥ 59 UeR b1 UT A f@rm T 87

Square threads

AR U8

Buttress threads [Correct Answer]
e U

Worm threads

dfd Ig

Acme threads

Acme U8

Which type of tool is typically used for grooving during turning
operations?

< SfeE 9 SRM Y7 9 _forg omfdk W &9 goR &
SUBRYT BT SYANT BT Sfrar &7

Chamfering tool
BRI SUBRT

Round-nose tool

RIS S—I0] STHNI

Facing tool

BRI STHRIT

Parting tool  [Correct Answer]

qIféT SYHROT

What is the primary difference between grooving and parting
operations in turning?

<t # FfdT sk i sfveE & d TR &fdy T &7

Tool shape
SRERUICARSICIN

Cutting speed
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Pled P A

0). Depth of cut [Correct Answer]
RIS
D). |Workpiece material
JHUT AT
Q.67. Which coolant is commonly used during the knurling process?
Afei T JfhaT @ TR MR R 5 Naas &1 STt b
ST 27
A). |0Oil [Correct Answer]
(1S
B). |Air
a'l'q
C). |Water
qrer
D). | Lemon juice
Hig &1 ™
Q.68. Which taper is commonly used in drill chucks and machine tool spindles?
ﬁﬁwﬁgmwﬁawaﬁ?wﬁwﬁm # ST
fopar <rar 87
A). |Jarno taper
ST TR
B). |ISO taper
ST TIR
C). |Brown & Sharpe taper
3T IR 70 TR
D). |Jacobs taper [Correct Answer]
Sihsd TUR
Q.69. Which tool is used for enlarging holes during fitting operations?
BT SYAIT fhar Sirar 87
A). [Tap
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B).

Q).

D).

el

Reamer [Correct Answer]

Rz

Hammer

ESIS

Screwdriver

e

Q.70. What is the main purpose of a dial test indicator?

A).

B).

Q).

D).

Q.71.

A).

B).

Q).

D).

S TR DR BT T ST T 87

To measure small distances or variations [Correct Answer]

B gRAT I1 A=ai d9e & forg

To tighten bolts and nuts
dicc 3R C HIH b oy

To cut metal sheets

&7 P! ATEN Pled & fofu

None of these

T4 9 PIS el

Which of the following mechanical fasteners is designed to be easily
removable and reusable?

Wﬁﬁﬁwﬁwm@ﬁmw

Rivet
CAREH

Weld
dos

Solder
Alesy

Screw [Correct Answer]

e

Q.72. What is the primary use of the given tool?

&g Tv T@ &1 wrRIfie SuART F4T 87
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A).

Shaping concave surfaces
e sl BT 3MBR AT

B). |Removing burrs from edges
PRI | TeTSIEe Bl
0). Smoothing flat surfaces [Correct Answer]
|AAA Gl Pl fABAT HRAT
D). |None of these
T4 U PIg AL
Q.73. Which type of cast iron is known for its high carbon content and
excellent wear resistance?
o 1. Bedl dlgl ATl S, DIe Al 3R S
ngef'gr"m & forg ST ST 27
A). |White iron [Correct Answer]
Abe Al
B). |Ductile iron
TAAR SArET
C). | Grayiron
SEERSIE]
D). |Malleable iron
A A=l
Q.74. Which part of the Vernier height gauge is used for making fine
adjustments?
forg foar Srar 2?2
A). |Scriber
REdEEN
B). |Beam
ELk)
C). |Base
SIS
D). |Fine adjustment wheel [Correct Answer]
®T3 FHISA afgar
Q.75. What is the primary function of a running fit?

AT fbe &1 yefie & |1 27
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A).

B).

Q).

D).

Q.76.

A).
B).
Q).
D).

Q.77.

A).

B).

C).

D).

Q.78.

To allow free movement  [Correct Answer]
T<h JATATSIE! DI AN T

To ensure no movement

I8 gHed & @ foy & 318 gaad 9 &
To provide maximum interference

MBI BXIET UG DR

To limit dimensional accuracy

AT FEThdT Bl AT By & foruw

Which organization is responsible for establishing standards for fits and
limits in India?

TRT § e R Riftey & forg a9a enfig &7 & o a9
T Hireq ReR 87

DIN
ISO
BIS [Correct Answer]

ANSI

Which tool is used to create a beveled edge at the top of a hole?

ﬁtiﬁ@mjmwm%ﬁ??ﬁﬂmaﬂﬁa%mﬁmww

Reamer

R¥R

Counter bore

HISe dR

Spot facing

JJd & AFH dTell

Counter sink [Correct Answer]
EASARNED

What is the purpose of the given tool (Hand Reamer)?

AT U T (@S R) o1 STw A 27
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A).

B).

Q).

D).

To enlarge existing holes manually [Correct Answer]
dioqar fogi b1 H=gere wU § g1 &R & foIg

To create threaded holes

IS BT M B forg

To remove burrs automatically

TSTSIEE & ¥dTfeld w9 ¥ €M & fory

None of these

ERARUKIEIaE]

Q.79. Which tool is used to enlarge an existing hole to a specific depth and

A).

B).

Q).

D).

diameter?

A P AT P e e

Tap wrench

<y =

Spot facing

I & A drell

Counter bore [Correct Answer]
PISc IR

None of these

ERARUKIEIaE]

Q.80. Which holding device is commonly used for securing drills in place

A).

B).

Q).

D).

during operations?

WH‘»WW@Hﬁ Gﬁgﬁg‘»%ﬁ&ﬂ?ﬁ?ﬂ?ﬁ?ﬁ

Vise

qsd

Chuck [Correct Answer]
TP

Clamp

Feiy

Screwdriver

Uadd

Q.81. Which type of shank is commonly used in handheld drills?

A).

?ﬁ%ﬁ%wm%aﬁwwmw

Straight shank [Correct Answer]
RICIRIED
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B). Square shank

PR AH
C). | Taper shank
TR 3d
D). |Hex shank
EESIED

Q.82. Which drill holding device is commonly used for precision drilling
operations?

'\'=|‘c,PIT:F %ﬁﬁgmwm&amm

A). |Magnetic base
REEIRESICIN
B). |Vise grip
arsdq g
C). | Drill chuck
SSEGED
D). |Collet chuck [Correct Answer]
Dlcic TP

Q.83. In which process can a cutting torch be used besides cutting and
welding?

BT IR a}mmﬁvaﬁwmﬂﬁmmﬁ
far < \oar

A). |Sanding
SR
B). Heating [Correct Answer]
IRH hAT
C). |Sawing
hIcHl
D). |Polishing
TP

Q.84. Which safety equipment is necessary when using an oxygen acetylene
cutting machine?

WWW&%W@WWW@H@
GRET SYGRYT ATAD &7

A). |Safety glasses and gloves [Correct Answer]
GRET I 3R S

B). |Sunglasses
gU b1 e
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C).  |Earplugs
ERESSRI
D). |Steel-toed boots
I @ Yol drel ofd
Q.85. How should one transport oxygen and acetylene cylinders?
A).  |Roll them
I A PN
B). |Drag them
C)-  |Push them
I© gdol
D). |Lift them [Correct Answer]
I8 IaRI
Q.86. Which part of the oxygen acetylene cutting machine ignites the gas
mixture?
ifairerT YRifeell ®req arelt e &1 39 &1 9rT 39 fsor
B Foaferd HRal 87
A). |Regulator
Nele”
B). Spark lighter [Correct Answer]
Wh ATgex
C)-  |Hose
BIS
D). |Pressure gauge
[REISLIE]
Q.87. In which type of welding is a filler material typically NOT used?
59 TPR 9 AfceT # AMAR TR WR1G AT BT STANT T2
far < 87
A).  |TIG welding [Correct Answer]
TIG dafeeT
B). |MIG welding
MIG dfesT
C).  |Gas welding
i dfeeT
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D). |Submerged arc welding
IS M AfeeT

Q.88. Name the following welding tool which is used to remove slag from
welds.

IfeST SYBRU B TIBT START q
T B D G bl S e

A).  |Wrench
qrdr
B). |File
RAELS
C). Wire brush [Correct Answer]
diX bl §°T
D). |Chisel
25l

Q.89. In which scenario would a half-round scraper be most useful?

e aRgea # smemr—ie GRa 9a9 Sy srfi?

A).  |Smoothing a flat surface
T A8 DI B Al

B). |Cleaning a straight groove
A ATl & A%

C).  |Removing material from a corner
U P A ARE ST

D). |Scraping a curved bearing surface [Correct Answer]
Udh FATTER 3R dTell T8 Pl BhY Bl

Q.90. What factors are considered when calculating knurling speed and feed?

T @ Y R W B TUFET HRA T b BRI R =R
forar Sirer 27

A). | Material type and knurling tool grade  [Correct Answer]
AN BT TBR SR AT SueRer @1 IS

B). |Workpiece weight
JHUE BT qol
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C)-  |Knurling tool color
AT SUBROT BT T

D). |Room temperature
PN BT I

Q.91. How can you prevent accidents while removing chips from the lathe
machine?

gywﬂﬁﬁmﬁmﬁwmgﬁmﬁﬁﬁww

A).  Remove chips with bare hands

9 gt 9 o e

B). |Leave chips on the machine

foreg a1 7efH ) B AT

C)-  |Use compressed air to blow chips away

D). |Use a brush or chip hook [Correct Answer]
97 T g b BT YANT BT

Q.92. What is the purpose of the anvil in a screw thread micrometer?

w5 I AR § e o1 Seew Fur 7

A).  |To measure the diameter of cylindrical objects

JOIHR I3 BT A 7Y & fofu

B). |To measure the pitch diameter of screw threads [Correct Answer]

U9 98 & U9 a9 &l q9199 & foru

C). | To adjust the zero error

I FfC BT FHRINTG A & foru

D). |To indicate the main scale readings

T Ao ) AR B SR R @ R

Q.93. What is the purpose of calibrating measuring instruments?

AT SYDRON DI Iifhd B BT ST 9T 27

A). To ensure accuracy in measurements [Correct Answer]

A9 H FSHdr gAfdead v @ forg

B). |To make them heavier

I 4N g9 B foru

C). |Toincrease their size
SDT BN g1 & folu

D). |To increase their speed

SECARISRCH R
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Q.94.

What is the primary use of shielding gases in welding?

AfeST & gRReror AT &1 yrIfis SUART T 27

A). To provide illumination
RIS Y& BRAT
B). |To enhance cooling
3S®h g & foly
C). |To prevent oxidation [Correct Answer]
SITRITHRT Bl AP & folg
D). |Toincrease pressure
%919 98 & fog
Q.95. Which welding principle involves the use of electricity to generate heat?
g dfes Rigia # T So= o & forg fawrelt &1 swam
oAt 27
A). |Arc welding [Correct Answer]
3P dfeeTT
B). |Laser welding
SR dfesT
C). |Resistance welding
gfeRTer dfeeT
D). |Gas welding
i afesT
Q.96. How is the arc initiated in arc welding?
3D AfRET H AP B FoAT DY Bl 87
A). |By pressing a button on the welding gun
IfSST T UR U g ST
B). |By turning a knob on the power source
fasTell A1 R g1 garey
C). |By blowing air onto the workpiece
JHUNT TR AT BHD
D). By striking the electrode against the workpiece [Correct Answer]
TJHUNT TR SIS ARG
Q.97. How are rivets spaced in riveting?
RaféT # Racw # g o =l F7?
A). |Randomly
ERAGIE]
B). |Equally [Correct Answer]
A WY

Join Anil Sir ITI Telegram channel for latest Updates




Q).

D).

Q.98.

A).

B).

Q).

D).

Q.99.

A).

B).

Q).

D).

According to material thickness

AN B ARTS B AR

None of these

ST 9 DY L

What is a common characteristic of hot riveting compared to cold
riveting?

31 RafST ot gar & sfc RafeT o wra fariwar @ &7

Faster process [Correct Answer]

o ufehar

Lower joint strength
SISl &I dihd &H 81

Requires no heat
T P smaTHdGdT T8 §

Less tool wear
B ITHUT FEATg

What is hard soldering also known as?

BIS Qe &I f9 I ¥ N SHT1 Sar 87

Softening
HellIH

Annealing

T

Tempering

SRR

Brazing [Correct Answer]
E- I5

Q.100. What is the primary advantage of using a swage block in

A).

B).

Q).

D).

metalworking?

gIgHH § ol sl BT SYART B BT TRIFAS A a1 87

Testing metal hardness.

g7 DI HIRAT BT IR0

Melting metal parts for fusion.

Horgd @ fow arq @ =l &1 fUger

Providing various contoured surfaces for shaping metal. [Correct Answer]

T BT 3MHR < & fory A= AHed Id8 I<™ Bl

Offering built-in measurement scales.

Siaf=Ha |arg GaE; B UIhIT
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Q.101. Which aspect of communication involves speaking clearly and
effectively?

A). | Body language

B).  |Active listening

Q). Written communication

D). Verbal communication [Correct Answer]

Q.102. Plural form of the word “child" is .

A). Childs

B). Childrens

Q). Children [Correct Answer]

D). Childer

Q.103. Identify the correctly spelled word.

A). Occassion

B). Occasion [Correct Answer]

Q). Ocasioon

D). Ocassion

Q.104. The antonym of the word 'transparent’ is

A). \visible

B). |translucent

0. |clear

D). opaque [Correct Answer]

Q.105. Directions: Fill in the blank.

It's important to to new regulations quickly.
A).  |adapte
B). | adabt
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0). adatp

D).  adapt [Correct Answer]

Q.106. Directions: Fill in the blank.

To achieve accuracy, one must be

A).  |precice

B). | precize

0). precise [Correct Answer]
D).  |preecize

Q.107. To 'accelerate’ means to speed up. Its antonym is

A). decelerate [Correct Answer]
B).  |rush

C).  |hasten

D).  |quicken

Q.108. Directions: Fill in the blank.

He is known for his____ mind, and always comes up with clever
solutions.

A). lazy

B). intelligent [Correct Answer]

). confused

D).  dull

Q.109. In written communication, what does the term "CC" typically stand for?

A). Creative Content

B). Carbon Copy [Correct Answer]

C). Correct Context

D). Complex Code
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Q.110. Which gesture is commonly used to indicate confusion or uncertainty?

A). Scratching the head [Correct Answer]

B).  |Rubbing palms together

C).  |Clapping hands

D). | Thumbs up

Q.111. Which communication channel is considered the most formal?

A).  |Phone calls

B). |Face-to-face meetings [Correct Answer]

C). |Emails

D). |Instant messaging

Q.112. Where is the 'wh' word typically placed in a question?

A). | Atthe beginning [Correct Answer]

B). In the middle

Q). At the end

D). | Anywhere in the sentence

Q.113. Which punctuation mark is used to separate the introductory phrase
from the main clause of a sentence?

A). [Colon ()

B). |Semicolon ()

C).  |Period (.

D). [Comma () [Correct Answer]

Q.114. Complete the given series:
& TS ST B R BN

3F,6G, 111 18L, 7

A). [21R
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B). |25N

0). 27 Q

D). 27 P [Correct Answer]

Q.115. Find the odd one out in the given series:
& T s ¥ dois B G

3,5,7,9,11,13

A). 5

B). 7

C). |9 [Correct Answer]
D). |13

Q.116. If in a certain code language, KOLKATA is coded as LPMLBUB, how
RANCHI will be coded in that code language?

Ife v AT dIe 9T §, KOLKATA & LPMLBUB & ®U |
Pifed fhar SIar 8, O SH DI 9INT § RANCHI B Y BlS

far sirem?
A). SBODIJ [Correct Answer]
B). SCOEJI
C). |QBPEHK
D). QCEOLlJ

Q.117. If X is the brother of the son of Y’s son, how is X related to Y?

XX, Y DY D YT B AR ol X BT Y | T H 57

A).  |Son
qa'
B). Brother
Gl
0. Father
O
D). Grandson [Correct Answer]
grar
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Q.118. If A is to the south of B, and C is to the east of B, then in which direction
is A with respect to C?

AXABDPIRUIAL IR CBIYEHE, A C D AeT A A
for faum & 22

A).  |North-east
SR
B). |North-west
IIR—URFH
C). |South-east
<feror—qd
D). South-west [Correct Answer]

feror—afees

Q.119. Rhea introduces Raman as the son of the brother of her mother. How is
Raman related to Rhea?

o e AT O Y R 9 o

A).  |Nephew
SISl
B).  |Brother
g
0. Cousin  [Correct Answer]
TRT WS
D). |None of these
ST 9 DI T

Q.120. What is the next number in the sequence: 12, 15, 17, 20, ...?

P H STl H&AT 94T 7t 12, 15, 17, 20, .7

A). 22 [Correct Answer]

B). 20
0). 24
D). |21

Q.121. In the given question, there is a certain relationship among three
options out of the given four options. Find the fourth option which is

not related.
ﬁaﬁq‘r 4 9 e & 9=
g&ﬂ“g I | Wﬁﬁm S |t T8 2 i
A). |Sofa
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JThT
B). Stool
T

o

0). Lamp [Correct Answer]

o
D). |Chair
BT

o)

Q.122. If '+' means ' -, 'x' means '+’ '=' means 'x', and '+' means '+', then

'qﬁ'_i_' Wa"ﬁ U %’va Wa:l'd V+V % L Waﬁ ! %’ aﬁq V+V
&1 3ef '+ g, dl

450 x 15+7-4+15="7"

A). |15
B). 14 [Correct Answer]
C). 12
D). |10

Q.123. Which of the following group (In Answer Options) of English letters will
look the same in the mirror?

ffoiRad 3§ 9 Ui &Rl & B 91 98 (SR fAee #)
<qor ¥ U o T fewm?

A). MAHUHAM [Correct Answer]

B). AOVZVOA

0. HITNTIH

D). |VHRTRVH

Q.124. Five girls took part in a race. Reena finished before Mohini but behind
Gauri. Ananya finished before Sanchi but behind Mohini. Who won the
race?

%z;g qma@ﬁ?@rﬁrm J\?[%,—,, @rtleﬁ@lﬁv—«r

agﬁ%gé?ﬁlmw

A). Reena
AT
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B).

Q).

D).

Ananya
3 '_Z

Mohini

Gauri [Correct Answer]

TR

Q.125. Six ladies P, Q, R, S, T and U are sitting around a round table. Q is

A).
B).
Q).
D).

between S and R. P is between T and R. U is to the right of S. Who is
between P and U?

wqﬁaﬁP,Q,R,s, IR U TP M 99 & IRI AR 31 &1 Q, SIRR & 17
ZIPLTIRRI LI U, S& als‘sﬁ'\r%|Paﬁ-\rU$aha ?

T [Correct Answer]

R

S

Q

Q.126. In the given question, there is a certain relationship among three

A).

B).

Q).

D).

Q.127.

A).
B).
Q).
D).

options out of the given four options. Find the fourth option which is
not related.

“Wﬁﬁ%m%mﬁ%ﬁwm%@ﬁmw

Screw

il

Hammer [Correct Answer]

B

Needle

g

Nail
DIt

If 3x + 4 = 16, what is the value of x?

e 3x + 4 =16 A x BT A 9T 87

4 [Correct Answer]
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Q.128. What is the total of the internal angles in a triangle?

A).
B).
Q).
D).

P Bryet # sifaRes o 1 G AT feaer gar 87

90 degrees

270 degrees

360 degrees

180 degrees [Correct Answer]

Q.129. What is the next prime number after 17?

A).
B).
Q).
D).

17 & 915 3TN VST F&IT B AT 872

18

19 [Correct Answer]

20

21

Q.130. The binary system uses how many digits?

A).
B).
Q).
D).

5 Reew fas 3Pl &1 SUANT BRar 87

2 [Correct Answer]

4

10

6

Q.131. What is the LCM of 8 and 12?

A).
B).
Q).
D).

8 3R 12 &1 LCM JIT 287

16

20

30

24 [Correct Answer]

Q.132. If 40% of a number is 20, then 25% of that number is .

gfe fdl G=T BT 40%, 20 2, O S G&AT BT 265%, ———————— 2|
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A).
B).
Q).
D).

12.5 [Correct Answer]

25

125

80

Q.133. Imagine, you have a cube-shaped box, and each side of this box

A).

B).

Q).

D).

measures 5 centimeters. What would be the total amount of space or
volume inside this box?

g, 8l
wawa‘»’rqgﬁﬁwa‘ﬁws %Elsvarcma%
3R J{ T8 T AFAT b BT

150 cubic cm

150 o9 IH

175 cubic cm

175 o9 IH

125 cubic cm [Correct Answer]

125 o7 JH

200 cubic cm
200 B9 I

Q.134. If a = 19 and b = 33, what is the value of a2 + b??

A).
B).
Q).
D).

Jfra=19 3R b=33 8 dra’+ b2 HT A9 T 87

1450 [Correct Answer]

1276

1170

1336

Q.135. In a survey, 60% of people preferred tea over coffee. If 300 people were

A).
B).
Q).
D).

surveyed, how many preferred tea?
TS 99 H 60% QNN = DIGI Bl S8 A I ArRIfAdHar 1| afs 300 AT &7
wderor fHar T, A feas A A 9 TN PR

180 [Correct Answer]

120

150

200
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Q.136. If a train travels at a speed of 60 kilometers per hour, how many
kilometers will it travel in 3 hours?

fPariier ufa 8¢ P 7fa 9 Ferar &, @
RIS AGINICRGA) S N E

A). 150
B). 210
C). 220

D). 180 [Correct Answer]

Q.137. You're measuring the perimeter of a square-shaped garden, and you
find it to be 40 meters.
How long would each side of this square garden be (In meters)?

APR PR & T @) IRE . 3R 3! Hrex e
%T%q Wﬁﬁﬁﬁﬁ%ﬁ%%ﬁgﬁ)ﬁ? 40 g

A). |20

B). 5

C). 10 [Correct Answer]
D). 15

Q.138. What is the term used to describe the transformation of water into
vapor?

A). Evaporation [Correct Answer]
qrdTHRoT

B). Sublimation
3HEdUTdh

€).  |Melting
AT

D). | Condensation

Q.139. What is the standard unit used to measure electric current?

faga a1 & AN & o WY AE 3HE T &7

A). Ohm
3

B). Watt
dfe
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C). |volt
qree

D). Ampere [Correct Answer]
TR

Q.140. Which of these options represents a sustainable energy source?

gﬁﬁaﬁﬁwﬁwwwﬁrwﬁ@ﬁmuﬁﬁﬁam

A). Solar [Correct Answer]
AR
B). Coal
DI
0). Natural Gas
EIE ARG RIS
D).  |Ppetroleum
Ueiferad

Q.141. You were testing a solution that is neither acidic nor basic.

What pH value would you expect to find?

A BeaE SR RS

n. |10

B). 7 [Correct Answer]

Q). 5

D). |14

Q.142. Which planet is known as the "Red Planet"?
59 g B A U b M A ST ST 27

A). Earth
geg|
B).  |Jupiter
gl
C).  Venus
sh
D). Mars [Correct Answer]
HT U8

Q.143. What does RAM stand for in computing?
HYGST H RAM $T RIT 31f 772
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A).  Random Access Memory [Correct Answer]
YeH o AARY
B).  |Read-Only Memory
Je 3fell 7ART
0). Remote Access Manager
R TRt HoR
D).  Real-time Analysis Module
Rael ergd AT syl

Q.144. What does 'C' stand for in the banking/financial term KYC?

36T / fo-i < pagd & A &1 ST T 27

A).  |Checking
AfpT
B). Caution
RIECIEI]
0). Careful
NGED
D). Customer [Correct Answer]
UTeh

Q.145. The Indian state of Goa was a former colony of which European
country?

ARA oG T foe R <21 &1 qd Sufvaer or?

A). Netherlands
RS
B). |Spain
Rkl
0). Portugal [Correct Answer]
Tt
D).  |France
LAkl

Q.146. Which river is known as the "Ganga of the South"?

PH—H T SRAT W T D AW F S o 8 P

A).  |Yamuna
?]'H.:ﬂ'

B). Godavari
TR

0). Kaveri [Correct Answer]
BT
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D). Narmada
THer

Q.147. The Indian National Congress was founded in which year?

AR T U P wOT o af gg of?

A). 1947
B). 1857
€. 11905
D). 1885 [Correct Answer]

Q.148. Who was the first Indian to win the Nobel Prize?

A9 RER S 91 U8l HRA™ I 97

A). C. V. Raman
RUCIRSE!
B).  |Amartya Sen
SRRl
C). Rabindranath Tagore [Correct Answer]
AT SR
D). Mother Teresa
HER ST

Q.149. Which element is the most abundant in the Earth's crust?

gl B YU § DI AT O FIW B AT H YrT I 82

A). Carbon
BT
B). Oxygen [Correct Answer]
SIENISE]
0). Hydrogen
EESISE]
D). Silicon
Rafernt=

Q.150. Which lake in India is known for its floating islands?

g;ﬁﬁﬁﬁﬁsﬂammasﬁ@ma}maﬁw

A). Loktak Lake [Correct Answer]
Alhcd 3ol

B). Sambhar Lake
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Q).

D).

NNEIR]
Chilika Lake
e et
Dal Lake
ERiEIG
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